BIC

log[ Relative Probability ]

-300

2x10° 5%x10° 10%

10

—-100 0

—200

10*

rm385 2/(410874 5134) 0933
—r r 1 v 1~ r r 1 r Tt r 1 T T I

I , , , BIC 44511488 ABIC 0.062 AIogP -0. 0136 ]

L : : : x> 378752.56 Ax? 0.031 AlogP —0.0068 -

S : Z l

i l_ b R I = [

ABIC —116164 802.6 :( 774.0 (

AX* —116164 -360.8 | ~1423
4874 ' 4874 4964 5134
AL ACs ACSF . . ACSBSF .
50 100 150 200 250 300 350

350 iterations

rm385 2/(410874 5134)=0.933
r~ ~ ~ 1 v T T T T T T v T T T T T L — ' T

- . BlC 44511488 ABIC 0.062 AlogP 00136 .
I 2 378752 56 AY? 0.031 AlagP —0.0068 |
SV ]
. S D P ]
L '| o _! b
T !'[ """"" |_
[ | | | ]
| 4874 _:|_4-87_4_i_|]_ L4984 L ) 9134, . . 4
: .A. :‘l :A\CSI i||.|r .AC?SFI . 'J‘I"LI._al'l_l_n.I_rl1_l_n_|_rl1_l_écl>5BI:ﬁElJLl_rl1_lJ1_I_r|1_.lJ1_I_rl1_.lJL:

50 100 150 200 250 300 350
350 iterations

Fe2 15% 592+141 km/s

rm385 BLR 6990 NLR 900 km/s

Window Half—Width (km/s)

1 BLR

7 NLR
1 Fell

150 350

350 iterations

kdh1 14-0ct-2021 13:44



